@R 3, FUNGUILONS SUMMARY SrEET

Linear HYPernoLa
Equation y = o0x+q, y = ax2+bx+c y= 9 +q y=oab+q
y = a(x—p)2+q X—p b must be +
Shape a>0 a<0 a>0 a<0 a>0 a<0 0>0, b>1 a<0, b>1
/ % | NS |
x =k vy =k p<0 (sh{iFJr left) | p>0 shift right p<0 p>0 0>0, b 1’°mc+ion 0<0. b fraction
Jr ’ R Y ’ / , ,\
Domain X ER X ER X ER X ER XER, x#p XER, x#p X ER X ER
Range YER yER yE[q;») | yE(-o;ql | YER Y#q | YER y#q | yE(q;) y € (-0;q)
Notes a = gradient (p,q) is turning point p is vertical asymptote q.is horizontal asymptote
q = y—intercept b dy q.is horizontal asymptote
x=—=— or—=0
20 dx
Inverse Reflection about line y = x (switch x and y)
£100 Must restrict domain of Log function (y=log.x)

original function to ensure y=x

the inverse is o function

Yy
y = ax®
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